Acid/Base Quiz Review O‘(e\/‘

1. Define the following terms.

Arrhenius acid = produCes HYin ssludion
Arrhenius base —produ LS OH™ in SO\U+{On
Bronsted-Lowry acid ~ dOﬂ(}‘*E’S H
Bronsted-Lowry base - Qccopts H*
. . imn inqlaaining} o H*
Conjugate acid-whot +H hose becomes otrer acu_p‘rmg 9 ing
f.  Conjugate base -what i et ater the acid donotes ( loses) a H*
g. Amphoteric - sulostance +hot can oct as either an acid or a. base

h. pH *’Power(:re hqdn‘)%uw, measures Nows acidic or PAsic o
solution is

2. Identify the Brensted-Lowry acid, Brensted-Lowry base, conjugate acid, and conjugate base in
the reactions below: -
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a. Hqu I 4+ NH; =2 SO + NH,"
Acid Hose ch cA

=y
b. HO + NOs" = OH + HNO;
Acid  BQse () cA

3\
¢ H,O + HCO;" > H;0% +2'C032-
those Acid CA P
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. Label the beaker in the picture that represents a strong acid. Label the beaker that represents a

weak acid.
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What makes an acid or base strong?

it completely dissociates (100%) Wi its (oNs in solution

What makes an acid or base weak?

i+ Qisseciodes only 5% imo its ions in solutigN

List 7 strong acids.

a.
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HIT HeL H2S 04 H 0y
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4, List 4 properties of an acid. List 4 properties of a base.
Acids “Boses
N electrolytes 1 electrolytes
2) tostes sour 2) tostes Ditter

3) caustic
d) reacts with acids g
prodoce o solt ¢ wadter

5 ) pH is greader than 3

3) produas H, s
whun i+ reacts
with metals

Y reacts with bases 1o
prodoc & salt s water

5) pH is \ess +han 7



5. Use the pH equations below to answer these questions.
pH = -log[H"] pOH = -log|OH'] pH+ pOH = 14.00
[H] =107 [OH'] = 10P0H [H*] x [OH] = 1.00 x 10" M?

a. Find th¢ pOH bf a solution of HNO3 with a pH of 5. 45

pH + POH = 14.00 (PH 3',55 '-;p
AR + pOH = 14.00 -
“5.4h ~5.45 |
b. Calculate th bf a solution of HCI with a concentration of 6.56 x 107 M., -
pH= ~logCH*T CHYT only L H in HCL
pH = ~log L 56 X107 =3
f’pH - l% D)

c. Determine the fa solution of HNO; with a [OH'] of 7.67 x 10°!! M.
 pOH = ~log CoH]
pOH=.210G F67 x1p7"

POH = B 1)
d. F ind th. of a solutlon of Ca(OH), with a concentration of 8.78 x 10 0 M
@F’OH“ “log LoH"1 (") CoHJ nas 2O0H™ in it
POR= ~log 1956 xI0™> = 4 COH™= 2(3AZXI107°M )= I. 45&”0 M

rdjpH + pOH =14.00
: oH + 436 ~ H.00 = PH- '40047(0‘"&%4}

e. Calculate th of an HCIOs solution with a pH of 2. 32,
only one Ht
_pH

I:‘_.} +] . ﬁx,-ac_a-f,,_,___&_
CH*T-= ID R g LHC? x10) H \
£ Calolite th@fa solution of Hl with a [H'] o 9.89 x 10" M. only ont. H

CCHFIxCOH=1= 1.00 x107'M M? T
(.89 x10™4) xCoHT = rooxiw™MF EOH‘J = 1.01XI0 M }
Q.gaAx 104 M q.39 x10"1M - .
g. Calculate the[H'] of a solution of Sr(OH), with a pOH of 3.43.
has 20H™
O Eal= 1™ -pOH 7nd) E_HUxCOHJ_IOOXlO A
20047 = 167343 CHI X (1806 x(0™1)= 100"'0~
% lmklo-“M | I%Lox:o'm
ZCoH 1= 3.31535229] xity H -
i z C CH+3 - 5.3¢x0° ”M N

COHT = LELbxID M
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6. Use the neutralization equation to answer these questions.
q q A W A oV

W, 7 ’
MaVa = MgVg oo A
.
a. Whatis the@f 900L HCl needed to neutralize 1.21 L of .0750 M LiOH?
Acid Base
Mg-~"7? =
s O Ma(.000L) = (OTSOMYLAIL)
Mp = 6750 M Mal.q00L ) =..00035 ML
LQo0L . qooL.
V= L2l = ——d

MR = 10IMD

b. Whatis the@m 1.40 x 10* M HCIO; needed to neutralize 125 mL of 1.10 x_

AR Has 1 HY

10" M Ca(OH)? s W
10" M Ca(OM):? 5 20
oasc WO

Ma = 1.4D x;g'qM

VA =7

Mo = 2 (11030 Y) = 220 xi079u
VA = 125mL = .125L

(L40 X0 M) Vs = (2.20 XY 125 L)
4o x 10791 Vg = 295x10 "B ML
1L4O X107 140 x 10 4 M

A :!“Js%ﬂ

(Ve = L1au L_"’




